
kdavis
Stretchwrapping.com                                          (800) 350-0011





Ref. # Model # Generic Part # Eng. Part # Description
1 SWA-48 SWA-CBWP 20-027-001 Pulley For Counter Balance Weight
2 SWA-48 SWA-RHGR 13-025-033 Rubber Handle Grip
3 SWA-48 SWA-PHN 20-025-001 Plastic Handle ( Threaded Insert, 3/4-10 )
4 SWA-48 SWA-TBB 20-110-002 Tension Ball Bearing ( Pressed Into # 5 )

SWA-48 SWA-TBB-SR 20-117-002 Snap Ring For Tension Ball Bearing   (1.620 )
5 SWA-48 SWA-TRET 20-014-006 Top Stretch Wrap Retainer
6 SWA-48 SWA-BRGR 13-025-033 Brake Handle Grip ( Slip On ) 
7 SWA-48 SWA-BRHD 20-037-003 Brake Handle 

6A SWA-48 SWA-SWS-20 20-026-002 Holder Shaft   ( For 20" Material )
SWA-48 SWA-SWS-18 Holder Shaft  ( For 18" Material )

8 SWA-48 SWA-SWS-10 20-026-001 Stretch Wrap Holder Shaft ( For 10" Material )
9 SWA-48 SWA-BRET 20-014-005 Bottom Stretch Wrap Retainer

10 SWA-48 SWA-BLW 11105-33622 Bolt 3/8-16x1 With Lock Washer
11 SWA-48 SWA-MAST 20-514-005 Mast Assembly ( Carriage Not Included ) 
12 SWA-48 SWA-DECK 20-013-004 Tread Plate Deck ( 48" ) 
14 SWA-48 SWA-DRVNG 20-042-001 Driven Gear And Shaft - ( 20-542-001 )
15 SWA-48 SWA-DRC 20-042-003 Drive Roller Chain  ( # 50  x 114 - 3/8" long )
16 SWA-48 SWA-SRR2 20-117-001 Snap Ring ( 2" ) 
17 SWA-48 SWA-BH 20-020-001 Bearing Housing
18 SWA-48 SWA-SRR1 20-117-003 Snap Ring  ( 1" )
19 SWA-48 SWA-MB 20-110-001 Main Bearing
20 SWA-48 SWA-LB 20-110-003 Load Bearing
21 SWA-48 SWA-BLT1 11062 Bolt 5/16-18x2 1/4

N/S SWA-48 37021 Nyloc Nut 5/16-18
22 SWA-48 SWA-LBB 20-016-007 Bracket For Load Bearing ( Welding Required )
23 SWA-48 SWA-GS 20-113-002 Spacer For Gear Bolted To Deck
24 SWA-48 SWA-NUT1 37024 Nyloc Nut 3/8-16
25 SWA-48 SWA-FC 20-522-002 Foot Control  nema 4 
26 SWA-48 SWA-DRIVG 20-042-002 16 Tooth Drive Gear 1" Shaft ( # 50 )

26-A SWA-48 SWA-TQL 20-152-002 Torque Limiter , Used Instead Of Drive Gear On Newer Models
SWA-48 SWA-TL-CLD-48 325144 Torque Limiter Replacement Friction Discs

27 SWA-48 SWA-DART 20-029-004 Dart Variable Speed Control Box
27 SWA-48 SWA-DELTA 20-029-006 Delta AC Variable Speed Control Box
28 SWA-48 SWA-POT 20-022-002 Speed Pot With Knob & Dial
29 SWA-48 SWA-SWITCH 20-022-001 A/C Power Switch
30 SWA-48 SWA-GBOX 20-141-002 Hub City Gear Reducer

SWA-48 20-047-002 Gear Reducer - ( CHINA ) 
31 SWA-48 SWA-DCMTR 20-135-001 DC Motor 90V 1/2 HP
31 SWA-48 SWA-ACMTR 20-135-003 3 phz 230 volt AC Motor  1/2 hp.
32 SWA-48 SWA-BLN 11061-37021 Bolt & Lock Nut 5/16-18x2
33 SWA-48 SWA-CGLR 20-014-007 Carriage Glide Rails ( EACH )
34 SWA-48 SWA-BVW 33352 Belleville Washers 3/8"
35 SWA-48 SWA-SWBOLT 20-118-001 Machined Head Bolt For Belleville Washers
36 SWA-48 SWA-MSA 20-514-008 Mast Slide Assembly
37 SWA-48 SWA-CBW 20-017-007 Counter Balance Weight With Cable
38 SWA-48 SWA-SBN 11123-37024 Shoulder Bolt & Nyloc Nut 3/8-16x5
39 SWA-48 SWA-FW 20-113-003 Fiber Washer 3" 

SWA-48 20-113-011 2" Spacer for film rod
SWA-48 20-113-009 4-7/8" spacer for film rod
SWA-48 20-113-010 3" Spacer for film rod
SWA-48 SWA-SPCR-KIT 20-154-007 Spacer kit ( Includes 1 of each size. )
SWA-48 SWA-CMMA Complete Manual Mast Assembly
SWA-48-PMO SWA-PMO Complete Powered Mast Assembly
SWA-48-PMO SWA-3PRLY LY3-AC24 3 Pole Relay               
SWA-48-PMO SWA-LS 01-022-022 Limit Switch                
SWA-48 SWA-AC-UPGR A/C Power Upgrade Kit

SWA-48

kdavis
Stretchwrapping.com                                          (800) 350-0011




kdavis
Stretchwrapping.com                                          (800) 350-0011



Ref. # Model # Generic Part # Eng. Part # Description
1 SWA-48-BELT DRIVE 20-110-003 Load Bearing
2 SWA-48-BELT DRIVE 20-540-001 Tension Arm Assembly Lever
3 SWA-48-BELT DRIVE 20-117-001 Internal Retaining Ring
4 SWA-48-BELT DRIVE 20-110-001 Ball Bearing   
5 SWA-48-BELT DRIVE 20-542-006 9" OD Driven Pulley with Shaft
6 SWA-48-BELT DRIVE 20-117-003 External Retaining Ring   
7 SWA-48-BELT DRIVE 37021 Nyloc Nut 5/16-18
8 SWA-48-BELT DRIVE 11061 Bolt 5/16-18x2    
9 SWA-48-BELT DRIVE 33006 Flat Washer 5/16

10 SWA-48-BELT DRIVE 20-514-006 Frame Sub Assembly
11 SWA-48-BELT DRIVE 20-513-031 48" Deck
12 SWA-48-BELT DRIVE 20-641-006 Drive Assembly ( Complete )

12-A SWA-48-BELT DRIVE 20-135-003 3-Phase Motor 230 volt
12-B SWA-48-BELT DRIVE 20-029-006 Control Inverter ( 115 volt )
12-C SWA-48-BELT DRIVE 20-141-002 Gear Reducer - Hub City

SWA-48-BELT DRIVE 20-047-002 Gear Reducer - ( CHINA ) 
12-D SWA-48-BELT DRIVE 20-042-019 Drive Pully ( 4-7/16" OD )

13 SWA-48-BELT DRIVE 11103 Bolt 3/8-16x3/4
14 SWA-48-BELT DRIVE 20-016-032 Motor Mount Bracket
15 SWA-48-BELT DRIVE 11105 Bolt 3/8-16x1
16 SWA-48-BELT DRIVE 36106 Nyloc Nut 3/8-16
17 SWA-48-BELT DRIVE 33662 Lock Washer 3/8
18 SWA-48-BELT DRIVE 33008 Flat Washer 3/8
19 SWA-48-BELT DRIVE B116 / B115 Drive Belt ( B116 OR B115 ) either one will work
20 SWA-48-BELT DRIVE 11105 Bolt 3/8-16x1

SWA-48 Belt Drive

kdavis
Stretchwrapping.com                                               (800) 350-0011




